 REVISION WORK    9/12/2020
CLASS 2          MATHS
CHOOSE  THE  CORRECT OPTION
1) 15m 45cm -  8m 20cm=_______
a) 6m 25cm    b)7m 25cm   c) 8m 35cm   d)7m 35cm

2) Number of faces in a cuboid is________
a) 12              b)10             c) 8         d) 6

3) Number of vertex in a sphere is_______
a) 3               b) 2                c) 0          d) 1

4) Identify the shape of the following object:
a)square        b) cone          c) cylinder      d) rectangle
       5) Brick is an example of_____
               a) cuboid        b) sphere       c) cone          d) cylinder
        6) 635 + 101 – 250 =_________
                a) 386          b)  486             c) 586               d) 686
         7) 999 /3 =__________
                  a) 111        b) 393           c) 303            d) 333
          8) 500 + 501 =  _______
                  a)1000         b) 1001         c) 1010        d) 0101
           9) Number of edges in a  sphere is ___________
                   a) 2             b) 1             c)  3           d)  0
          10) Write in cm :   3m =_____ cm
                   a)100         b) 200          c) 300        d) 400
